
① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

⑪ ⑫

⑬ ⑭

⑮ ⑯

⑰ ⑱

⑲ ⑳

① 1 5 ② 6 6 ③ 3 2 3
＋ 8 7 ＋ 9 7 ＋ 4 1
1 0 2 1 6 3 3 6 4

④ 1 2 5 ⑤ 1 7 3 ⑥ 1 0 6
－ 8 7 － 7 9 － 5 8

3 8 9 4 4 8

＊ 　つぎのかけ算九九を　こたえましょう。

おぼえよう！かけ算九九

２年　　組　　　番　名前（　　　　　　　　　　　　　　　）

４×８＝３２

９×３＝２７

３×７＝２１

６×６＝３６

５×８＝４０

８×６＝４８

９×４＝３６７×２＝１４

５×７＝３５

６×６＝３６ ７×４＝２８

５×４＝２０

６×３＝１８

３×３＝９

４×９＝３６

６×４＝２４

＊　計算をしましょう。

３×９＝２７

８×７＝５６

４×８＝３２

９×５＝４５

No.６２



① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

⑪ ⑫

⑬ ⑭

⑮ ⑯

⑰ ⑱

⑲ ⑳

① 4 3 ② 9 0 ③ 3 6 7
＋ 6 7 ＋ 4 6 ＋ 5 9
1 1 0 1 3 6 4 2 6

④ 1 5 3 ⑤ 1 1 7 ⑥ 1 4 0
－ 9 6 － 8 9 － 6 2

5 7 2 8 7 8

＊ 　つぎのかけ算九九を　こたえましょう。

４×７＝２８６×２＝１２

７×２＝１４

６×８＝４８

３×８＝２４

８×３＝２４

６×７＝４２

５×５＝２５

９×４＝３６

８×４＝３２

９×８＝７２

５×４＝２０

３×８＝２４

２×５＝１０

３×９＝２７

９×９＝８１

５×７＝３５ ９×６＝５４

８×８＝６４

５×６＝３０

＊　計算をしましょう。

おぼえよう！かけ算九九No.６３

２年　　組　　　番　名前（　　　　　　　　　　　　　　　）



① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

⑪ ⑫

⑬ ⑭

⑮ ⑯

⑰ ⑱

⑲ ⑳

① 6 5 7 ② 7 0 3 ③ 4 3 6
＋ 4 4 8 ＋ 5 9 8 ＋ 8 9
1 1 0 5 1 3 0 1 5 2 5

④ 3 4 1 ⑤ 1 1 3 ⑥ 4 2 0
－ 7 8 － 7 6 － 7 8

2 6 3 3 7 3 4 2

＊ 　つぎのかけ算九九を　こたえましょう。

No.６４

２年　　組　　　番　名前（　　　　　　　　　　　　　　　）

おぼえよう！かけ算九九

３×６＝１８ ９×３＝２７

５×２＝１０ ６×７＝４２

３×８＝２４ ９×４＝３６

７×９＝６３ ５×６＝３０

７×５＝３５ ４×５＝２０

３×９＝２７ ６×３＝１８

８×８＝６４ ９×５＝４５

＊　計算をしましょう。

９×９＝８１ ５×７＝３５

７×４＝２８ ３×５＝１５

４×８＝３２ ７×３＝２１



① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

⑪ ⑫

⑬ ⑭

⑮ ⑯

⑰ ⑱

⑲ ⑳

① 2 4 ② 8 3 ③ 4 5 7
＋ 7 9 ＋ 5 8 ＋ 4 1
1 0 3 1 4 1 4 9 8

④ 1 3 3 ⑥ 1 2 6 ⑥ 1 0 4
－ 6 5 － 4 9 － 7 8

6 8 7 7 2 6

おぼえよう！かけ算九九

＊ 　つぎのかけ算九九を　こたえましょう。

４×９＝３６

８×２＝１６

５×３＝１５

６×７＝４２

４×２＝８

８×３＝２４

６×８＝４８

４×３＝１２

９×６＝５４

６×５＝３０

９×９＝８１

６×６＝３６

９×４＝３６

４×８＝３２

４×７＝２８ ５×９＝４５

３×２＝６

７×２＝１４

４×５＝２０

８×６＝４８

＊　計算をしましょう。

No.６５

２年　　組　　　番　名前（　　　　　　　　　　　　　　　）



① ②

③ ④

⑤ ⑥

⑦ ⑧

⑨ ⑩

⑪ ⑫

⑬ ⑭

⑮ ⑯

⑰ ⑱

⑲ ⑳

① 7 2 ② 5 7 ③ 3 7 9
＋ 2 8 ＋ 8 6 ＋ 5 8
1 0 0 1 4 3 4 3 7

④ 1 6 4 ⑤ 1 2 3 ⑥ 1 1 0
－ 5 4 － 7 6 － 2 7

1 1 0 4 7 8 3

４×６＝２４

５×９＝４５

おぼえよう！かけ算九九

＊ 　つぎのかけ算九九を　こたえましょう。

８×７＝５６

５×３＝１５

５×８＝４０

４×５＝２０

６×７＝４２

６×８＝４８

４×４＝１６

８×９＝７２

５×２＝１０

３×５＝１５

４×６＝２４

９×８＝７２

８×５＝４０

No.６６

２年　　組　　　番　名前（　　　　　　　　　　　　　　　）

４×７＝２８

２×６＝１２

４×７＝２８ ６×７＝４２

＊　計算をしましょう。

２×５＝１０


